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1.             .

2. 2 :

    = 1 = .T1

  =1

1= 750 m

  :

       2 . =

     = 250 x 10-6 x6.10-6

= 1500 m/s   

 2

1.     :

a(t) = a0

a0(t) – N0e
- t = 0

a(t) + N0 = 0

a(t) + =  0

 =0a(t) + 

2.       :

a(t) =             N = 

     a(t) = 

3.     t= 3t1/2 :
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 X = Ar  
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1.       :
Pth(R) = RIm

2

      :=  0.1A      =Im =

  t = 0,25 ms       I( ) = 0,63 . Im

I( ) = 0,63 x 0,1 = 0.063 mA

2.    R :

Pth(l) = r Im
2  

Pth(R) = RIm
2

10   =r =  

3.   L :

  (RLC)     :=

L =  ( R + r)

  L = 0,25 x 10-3 (80+10)   

                L = 22.5 mH

4.   E :

    E = (r + R) Im

  E = (80 + 10).0,1

    E = 9v

5.     :

L=1/2.Im
2Em

   Em = ½ x 22.5 x 10-3 x (0.1)2

     112.5 J   =Em

r = 
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1.     AP  :

Ec(P) – Ec(A)= w(

=  mgyF

Ec(A) = Ec(P) – mg( h + )

     )Ec(A) = 130-0.2 x10 x (15+ 

     Ec(A) = 90J

2.  F   :

VxF = V0 cos 

VF = -gt + V0 sin  = 0

  =tan( ) = 

      1/3 =tan ( ) =

3  . h   :

     P  F  :

Ec (P) – Ec(F) = w(

Ec(P) – Ec(F) = mg(

h = 

     - h = 

   h= 5m                       
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1-    

B + H2O  BH
+ + HO-

pH  pH = pKA + log ([B])/(BH+])

      t=0       [B] >>[BH+]  log ([B])/(BH+])> 0 



  pH > pKA

pH1 = 9     NH3OH+/NH2OH

pH2 = 10,6    NH4
+/NH3

pH3 = 11,4    CH3)2NH2
+/(CH3)2NH(

2-             pKA .

= 0,251(CH3)2NH2
+/(CH3)2NH

= 0,42                NH4
+/NH3

= 1x10-3
3NH3OH+/NH2OH

3-   :

mol/ l.min    mol/ m3.s
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1-  AH/A - =  C2H4O2/C2H3O2
-

    :AH + H2O    A
- + H3O

+

   KA=  

  )1   (pKA = pH + log ([AH])/( A-])

      [A -] = [H3O
+] = 10-pH

     [AH] = CA – [A -]

  )1 ( pKA = pH + log ([CA- 10-pH])/([10-pH])

2-  pKA = 3,3 + log(1,5x10-2 x 103,3 -1)

   pkA = 4.76

3-

a(    K = 

 K =      

K = 

b( 

+ NH4
+C2H3O2

-+ NH3C2H4O2
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1-

1-1-   pH  pKA

pH = pKA + log 

= 10
-pH   - pk

A

1-2- 

2-

2-1-    :

2-2-

SO2/HSO2         O2/H2O
2-3-SO2 + H+ + 1e-

  HSO2

2H2O  4H
+ +4e- + O2

  : 4SO2 + 2H2O   4HSO2 + O2
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